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The Cannan-Leaf criticism of theory ‘0‘ 1%';(']'3
Creations is, in fact. not valid. The analogy of un s
With deposits i not true. The attendent of the clo ’
ro0m gives over umbrellas to the members going
Ut of the club but bank never actually gives up
Cash. The borrower js never paid the mﬂou"t'?
Cash. A current account is opened in the name 0
borrower and he is allowed to operate the E}CCQ"ndt
Y iSsuing cheques. Same amount of cash is use
for OPening more and more accounts by the l?ank
epeatedly, Consequently, bank is definitely In a
POsition to create deposits or credit many times
more than the origina] or primary deposits received
by it. Hence commercial bank is not merely a lender
of money but the producer or creator of money. In
addition, the aggregate deposits of the banking
s¥stem in apy country are invariably much lafger
than the currency with the public. That also Is a
pointer to the fact that commercial banks can bring
about multiple expansion of deposits or credit.

Just as a sma)) increase in primary deposits can
Cause multiple €Xpansion of deposits and credit, S0
4 small decline in the amount of primary deposits
can lead to 3 multiple contracton of credit or deposits.

2. PROCESS OF CREDIT CREATION

The commercia banks are capable of creating
deposits or credit many times more than the primary
deposits, ie. the deposits orignally received from
their customers. The relevant question in this

deposits or credit.

The process of credit creation can be discussed
in two situations (1) When there is only one bank
and (i) When there are more than one bank of the
banking system as a whole

I. Single Bank Credit Creation

If there is the existence of o
economy, there can be the pos
expansion of deposits or credit,

Assumptions :
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sibility of multipje
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G- The i of time deposits by the
ustomers remains unchanged. k
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(vi) The banking habits of the Peo

developed. =
(vii) The borrowers are willing to borroy, i
and the bank is willing to lend funds,

se ersonAdeposit_s initial]y Rs. 1¢
withi;gp];)anks This is the primary depositg Qflég
bank. As the bank knows by experience t_hat all the
depositors never appro.ach'the bank for W'thdfawing
cash at the same time, it will keep a Proportion o
deposits in the form of cash f:or meeting the cash
demand of the depositors. It is SUpposed thy the
cash reserve ratio is 10 percent. The bank wi|
10% of the primary deposit, e, Rs 100 as
reserve and the remaining amount of Rs. 900 will be
advanced as loan to person B. The bank wj| not
give cash to person B. It wil] OP€N current accgyy
in the name of B amounting to Rs. 900 ang allow
him to make withdrawals through cheques. Thy;

ple dre

keEp
Cash

customer C. Again another

current account of Rs
810 will be opened in the

name of C and cheque
for making withdrawals,

(ie, 10% of Rs.

Person C. The Iemaining
advanceq g loan -

account of Rg, 7 9 will be opened in favour of
pre'son.[) This deposit of Rs. 729 is another
€rivative

deposit cregpeq by the bank. This process

: the total amount of primary
Ml accumulate 1 R 1000 ¢ 900 + 810+
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cREATION
on Primary Deposis 21gle Bank Credit Creation —
pers (in Rs.) (-ﬂih Rleserves AR Derivative Deposits
i | =109, : : ‘
Rs.)
Pl 1,000 i e el S TR AN =
A o :
‘ (Initial Primary Deposip) e 900 900
900
g 810 2 810 810
. 729 s 729 79
i V5 7290 656.10 656.10
&"f : e T 1’000 9,000 9,000
Rs 10,000. The total amoyp : ,

of derivyat;
0 pecomes Rs. 900 + 810 + 779 +der"fil;£'e
Sepaiin S.

4eposits ¢ total amount of cash rege i

9;nk ‘;Vir{lhbecome Rs. 100 +90 + 8] + ’\l/2es9(\)~ lJ:h :
b 00 and it will be exactly equal to the ir;.it.ial
R deposit of Rs._lOOO. Thus the Commercia|
iyings about th_e Increase in total deposits by
0000 due to mm.al primary deposit of R 1,000
ihe total deposits increase by 10 times (e initial
,m,nm deposit. This process of multiple expasion of
geposit or credit is shown through Table |,

galance Sheet Approach

It is possible to explain the process of single
bark credit creat'lon through the balance sheet
appraoch. It is again supposed that the bank initially
receives primary deposit of Rs. 1,000 and the cash
eserve ratio is 10 percent.

pri
.

Table 2 — Balance Sheet of Bank X

Liabilities Assets
Primary Rs. 1,000 | Cash Rs.1.00
Deposits Minimum Rs. 100
Required

Cash Reserve

Excess Cash  Rs. 900
Reserve

As bank advances loan of Rs 900 and creates
erivative deposit of Rs. 900, The balance sheet is
s follow :

Table 3 — Balance Sheet of Bank X

[ ——

Liabilities Assets
Primary Rs. 1,000 | Cash Rs. 1,000
Deposits
Derivative Rs. 900 | Loans Rs. 900
Deposits

Il. Multiple Bank Credit Creation

In an economic system, there can be the
existence of a number of banks. Just as a single
bank can bring about multiple expansion of deposits
or credit, so all the banks in a banking system can
together bring about multiple expansion of deposits
or credit. .

Assumptions :

The process of multiple bank credit creation
can be explained under the following assumptions :

(/) There are banks P, Q, R and S in the banking
system.

(if) The required cash-reserve ratio is 10 percent.
Each bank is required to keep 10 percent of its
deposits in the form of cash reserves.

(i) Initially the bank P receives a primary
deposits of Rs. 1,000.

(/v) The loan amount drawn by the customer of
one bank is deposited in full in another bank of the
system. It means there no drain of cash out of the
system.
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normal business conditions in the 8 creates @ . Ultimatily the total incg. '

: ; goes Ol i, : g
Plagels gnounls (o Rs 1000 + 900 X.H) b 9y
initi : deposits @ 10,000. The cash reservey |
mitially receives a primary 656.10 * .=Rs. 1V,

)
Iy !
; +90 + 8] 4 5~ Ml
e Rs. 100 72 o g
1,000. 1t keeps a cash reserve of Rs banking system becon} mount of derivative | %,
: 10 percet of Rs. 1,000) to meet the cash Rs. 1,000. The It{c;li‘l)of(l) + 810+ 729 + 65¢ ““’I;wwS
cemand of the depositor. The remainine tiofs s s | to o ) 4,
v ‘ sitor. aining amoun equa 4 its increasa
Rs 900 it advances as loan to some %uslomer. It becomgsoo%_ Thus the total diﬁosrimafy :]L‘*L by g
OPENS a current account in the name of that customer RS'() ,due to initial increase I 'pwa e POsj, (fr
and issues g cheque book (o enable him to make 10,00 t of Rs 1,000. In this ly,dt UH‘(Iu.L,‘
; : : el T
Withdrawals, Thus bank P creates a derivative deposit t:e i?;fsli?ation, the incr-ease i:lalr(;’tz:.lepzzi(::”\ . ";
of Rs. 900. The cheque : this i1 increase in pr Sits,
: que issued by this customers he initial incre
Yot e o - R 0 neSt € 4 % e .
o\ deposited in bank Q. Thus bank Q receives a ! cess of multiple bank credit Creg
Primary deposit of Rs. 900, It will keep a cash reserve The pro can be shown through Table 4 ™
OFRS. 90 (i.e,, 10 percent of Rs. 900) and remaining analysed above

\I . oL

(M) Na lN\I\}\ kl'k‘l“ oxcess cash reserves.
0D The

Cning unel

(Vi) I'he

Y central bank does not enforce any credit vanced 2
iy a
oSty IChiony,

() There are
CCONnOmie System,
Suppose bank p

deposit of Ry,
100 (i.e..

. it Creation -
Table 4 - Multiple Bank Cr edit C — Derivative Dm

nces :
Banks Primary Deposits Cash Reserves Afj:?{s.) (in Rs.)
(in Rs.) r=10% @ /—\
900
P 1,000 100 Gl
(Initial Primary
Deposit) 810 810
20 729
g 4 81 2 656.10
S 3;2 790 656.10 i
— — g i \
9,000
9,000 ’
Total 10,000 1,000 r—

t Approach
amount of Rs 810 is extended as Ioap to some Balance Sheet App
customer. Thus bank Q creates a derivative deposit

. : : cheque of Rs. . he balance sheet apprg
210 i 'g;:lfiec;sg)t?; with bank R. S0 bank R _can be explained through the L

, e four bank P, Q, R ;
receives a primary deposit of Rs 810. This bank It is suppescd ey ther?v:: the primary deposn:[ljdf
keeps a cash reserve of Rs. 81 (i.e., 10 percent of g pitially bank P rece '

rve ratio is 10 percent,
Rs 810) and advances as loan of Rs 7.29 to somef Rs. 1,000 and the cash rese P
customer and opens a current account is favour o

The process of multiple bank credit cregjy,
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¢ Table 5 - Balance Sheot o Bank p T

: feserve, As bank Q creates a derivative deposit of
ities ' : ank ) creales a 5
.blab" ‘N Rs 810. The balance sheet of bank Q can be depicted
S Rs. 1,000 Cash R as
i o 5.1,00
pr its Minimun Rs Table 8 — Balance Sheet of Bank Q
Cash _\Liﬂl)ili(ies Assets
Reserve S Rs. 900 | Cash Rs. 900
ST eposits
EXCeSS Cash g g0 :
Reseve ; Derivative Rs. 810 | Loans Rs. 810
_\ Deposits i)
/b;k—l)rTceIVCS primar

itialkl i
l“‘t‘zt of the cash of Rs. 1,000 0 . The customer taking loan from bank Q issues 2
1’00" e rserve e 100 al]d,‘l];?elpllmlnwu:n cheque which gets deposited with bank R. N;;V
rch‘reeserve of Rs 900. As this by 'S excess  bank R receives a primary deposit of Rs il

nk Create iy

I : : es the bal

5 ance sheet of bank R is given as.
@ tive deposit of Rs 900, its balance sheet can ban g

be depicted % Table 9 — Balance Sheet of Bank R

y deposit of R

Table 6 — Balance Sheet of By p Liabilities Assets
/mﬁf“ F} Primary Rs. 810 | Cash RS-SI;:
/R-s i ——— Deposits Minimum Rs.
primary e S Rs. 1,000 Required
DePOSitS Cash
Derivaﬁ‘/e Rs. 900 | Loans Rs. 900 Reseiss
Deposits Excess Cash  Rs. 729
- Reserve

The customer.b(:jrrO\f\:;:gb Rs 900 issues a‘cheque AlR bank'R receives a primary deposit of Rs
which gets d?posne d ew(;s't afn; Q'()NOW this bank g0,y keep minimum required cash reserve of Rs 81
receives @ primary def' ' OF'Rs. 900. Its balance 54 the remaining cash amounting to Rs 729 is the
sheet is given as UI‘1 : excess reserve. As bank R creates the derivative

i is bank
Table 7 — Balance Sheet of Bank Q deposit of Rs 729, the balance sheet of this ba

can be shown as :
! it i Table 10 — Balance Sheet of Bank R
i Rs. 900 | Cash Rs.900
anaryj . s Liabilities Assets
Deposits Minimum Rs. 90
22‘:;' 'y Primary Rs. 810 | Cash Rs. 810
Reserve e
Derivative Rs. 729 | Loans Rs. 729
Excess Cash  Rs. 810 Deposits
Reserve

g : The loan of Rs 729 is received by the customer
 Bank Q receives a primary deposit of from bank R. The cheque issued by him gets
Rs. 900, Out of the amount of cash of Rs 900, the deposited with bank 8. Thus bank S receives a
minij ""‘_,"'required cash reserve is Rs. 90 and the primary deposit of Rs 729. Now the balance sheet
ng amount of cash of Rs 810 is the excess of bank S is as under : s
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Table 11 — Balance Sheet of Bank S
| Liabilities Asseg/
| Primany Rs. 729 | Cash RE
| Deposits Mipimm R 72
“ Required
; Cash
; Reserve
Excess Rs. 636.10
{ Cash Reserve

The bank R extends a loan of Rs 656.10 0 some
customer. It opens current account in favour of this
customer. Thus it creatss a derivative deposit of Rs.
636.10. Iis balance sheet can be now depicted as -

vy MACRO ECONOMICS (Sem Il "
on

oDUCTOR .

~qEDiT CREATION AND Chgy,

% MULTIPLIEH .
£ credit creation in the by,

The proCCiSSaomultip]e expansion of cre d?[n ‘lﬂg

g

ults in e,
em 1eSU > L ich tf)tal deposits increase ¢

deposits is det e
. ~rease 1N nnmry o

ab sr;:lli;l;cgf credit multiplier. :
: in primary deposis is (6n)
e g

d ‘;?:s (M) is given by the following series - i
5::16D+(1 —Y)SD+(1—¥)2. 8D + (1_”]60
W D st s

Multiplying equation () by (1-7)
‘ 2

] == )6D+(]"Y)'-5D+(]‘Y3‘“
1-7)M (1 Y+(1—YY’-5D -

ly
Y

Tabl 12 — Balance Sheet of Bank S ~(1-7 ). 8D e i i
D Submcﬁng (i) from (7
Liab Assets
o = sM—(1-1)M =6D-(1-y).8D
PD—I-;_oEr- e B T 6M(1“1+Y)=5D[1‘(]‘Y)”]
SDOSIES
; (-
Derivative Rs. 636.10 | Loans Rs. 636.10 y oM =[1-(1-7)]6D
Deposits - ooy
The process of multiple credit creation by the M = __—T‘ 6D
entire banking system can now be shown through
Tabke 13.
Table 13 — Credit Creation by the Whole Banking System
Banks Liabilities Cash Reserves Loans or Derivative
(in Rs.) (in Rs.) Deposits (in Rs.)
P 1000 100 %0
Q 900 0 810
R 810 8l 729
S 729 7290 656.10
Total 10,000 1000 9000

It is thus clear that the initial primary deposit of
Rs 1,000 leads to an expansion of total deposits by
Rs. 10,000 2., 10 times the initial primary deposit.

Similarly. if there is decrease in the initial primary
deposits, there can be a multiple contraction or
destruction of deposits.

As n approaches infinity, the term (I - 1/
tends to approach zero and, therefore, the abov
expression can be written as

1
M =;.5D i)
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|
5M =575 * 10,000 < 10x10,00

= Rs. 100,000

n the equation (iii) giyeo above

S IS credit
qultiplier (Ke), Which in the gy, ill ;

| |

Ustration g

—

0.10

g 1
equal "y <

The credit multiplier cap be d

F eﬁ . :
of total Chang{: in deposits (3 ’On’cl:ie acS/ the raio
p.rima’?’ deposits (3D). _ 1ange ip

|
= —‘SD
oM :
M |
or 5_ —;
_1_3M
&5 oD

Since in the above illustration, the size of K_ is
10, the small increase in primary deposits amounlLing
to Rs. 10,000 causes an increase in (ora] deposits
by 10 times i..¢., by Rs 1,00,000

Since credit multiplier K_ = l, it means the

credit multipler is the inverse function of cash reserve
ratio (y). Higher the cash-reserve ratio, higher is the
size of credit multiplier ana consequently larger is
the magnitude of credit creation and vice-versa.

4. LIMITATIONS UPON CREDIT
CREATION

It is true that commercial banks can increase
deposits to a large extent but this increase in deposits
is, by no means, infinite. There are specific limitations
on the commercial banks power to create deposits.
These limitations are as follows :

(i) Cash reserve ratio : The legal minimum cash
Teserve ratio determines the magnitude of the credit
multiplier and the total change in deposits varies

mt:m

R
f 8D = Rs. 10,000 ang , 010

103

in ;
ra:’iirsely Wll_h the magnitude of the cash-reserve
exPa‘ dEVen 'f_ the banking system is inclined to
N deposits, a higher cash-reserve ratio will

E::Z::y curtail the capacity of the banks to expand

(")‘ Amount of cash : The infinite expansion of
Crepos"s cannot be possible since the banks “cannot
qte credit out of thin air”. The amount of cash
available with the banks specifically limits the

capacity of the banks to make investments or to
make advances to the borrowers.

de

(iid) Liquidity preference : The liquidity preference
on the part of the general public also limits the
“apacity of the banks to expand deposits. If the
people have a strong preference for cash and there
IS a net drain of cash from the banks, the credit
¢Xpansion capacity of the commerical banks will be
correspondingly curtailed. 1f we assume that the
ratio of cash withdrawn by the depositors to the
total deposits (d) is, say 10% or 0-10, a primary
deposit (dD) of Rs, 10,000, given the cash-reserve

ratio (g) at 010, will bring about deposit expansion
to

I
M= —— §D
Y+d

x 10,000 =

= . 0
0.10+0.10 0

0.20

5x10,000 = Rs. 50,000

Earlier we studied that the deposit expansion,
ignoring the liquidity preference, is 10 times the
primary deposits. But now it is found out that the

magnitude of credit multiplier LL} is only §
Yy+d

because the deposit expansion is restricted by the
preference for cash.

(iv) External drain : 1t is assumed in the process
of credit creation that the amount of cash that the
commercial banks acquire in the form of primary
deposits continues to remain with them. Bank never
makes payment to the borrowers in the form of
cash. If some amount of cash flows out of bank, it
is called as the external drain. Such drain of cash
will reduce the cash resources of the bank and

consequently their ability to expand credit or deposits
will get reduced.
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() Additional cash reserve : The deposit
expansion may also be restricted, if the commercial
banks decide to hold cash in excess of the legal
minimum cash-reserve requirements. If we assume

that the ratio of the additional cash reserves In

€xcess of the cash-reserve ratio to total deposits

, (¢) is 0.15, the magnitude of the credit multiplier will

A be determined by Lrhigt 4 L4
Y+c 0.10+0.15 0.25

Gl'ven-this magnitude of variable ¢, the deposit
eXpansion will be four times the primary deposits
and not ten times the primary deposits as discussed

earlier.
Iy =015"d='0'15 and &= 015, the credit
: 1
multiplier will be d f ) S
P. etermined as Y tdte where v,

dand ¢ are the leakages from the deposit expansion
Stream and the magnitude of the credit multiplier

I o ol
0.10+0.10+0.15 035 7 >3
In this situation, an initial deposit of Rs. 10,000 will
cause an expansion in tota) deposits by only Rs.

10,000 x 286 = Rs. 28 600,

(vi) Desire for borrowing : If the commercial

(K.) will be

@I] RRMAms

UCTORY MACRO ECONOMICS (Sem y ,,
S

INTROD

panks are willing to advance loans but the Dorrowg,.

re not willing to get loans due to recesy,
aome other reason, it will not be possible for
zommercial banks to expand deposits or Creg;

any large measure.

(vii) Nature of sequritiq : The commercia) bany
always extend credlt‘z‘\gamst securities. |f SOupy
and acceptable securities are not availab\e the

commercial banks in a large measure, it is not POssib
for them to expand credit or deposits,

(viii) Central bank p.olicy : The extent by Whiigy
the commercial banks will expand credit is condivigneg
by the policy of the central bank. When the Centry,

bank is out to restrict the supply of money, 1
commercial banks are under tremendous Pressyr
and they cannot obviously expand credj o any

significant éxtent.

(ix) Attitude of commercial banks : The deposy
expansion finally depends upon the willingness o
the commercial banks to extend credit. For Mstance
during the period of depression, the banks \m‘g
got sufficient cash reserves. Even the cenyra) Dank
wants the commercial banks to expand credit by,
the fear of losses discourages the banks fror

extending credit to the individuals and the busing

firms,

Or
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Uin
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